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How to calculate a many body energy level 
diagram ? 
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energy level diagramenergy level diagram

In the part of the input file about the crystal field we replace the red text
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‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐
‐‐ Define the crystal field term.
‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐
if H_cf == 1 then
‐‐ PotentialExpandedOnClm('Oh', 2, {Eeg, Et2g})
tenDq_3d = NewOperator('CF', NFermions, IndexUp_3d, 

IndexDn_3d, PotentialExpandedOnClm('Oh', 2, {0.6, ‐0.4}))

tenDq_3d_i = 2.5

tenDq_3d_f = 2.5

H_i = H_i + Chop(
tenDq_3d_i * tenDq_3d)

H_f = H_f + Chop(
tenDq_3d_f * tenDq_3d)

end



energy level diagramenergy level diagram

With the blue text
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‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐
‐‐ Define the crystal field term.
‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐
file = assert(io.open("Fe3p_EnergyLevelDiagram2", "w"))
‐‐ PotentialExpandedOnClm('Oh', 2, {Eeg, Et2g})
tenDq_3d = NewOperator('CF', NFermions, IndexUp_3d, 

IndexDn_3d, PotentialExpandedOnClm('Oh', 2, {0.6, ‐0.4}))
for i=0, 600 do
tenDq_3d_i = 0.01*i

tenDq_3d_f = tenDq_3d_i

H_i = H_i + Chop(
tenDq_3d_i * tenDq_3d)

H_f = H_f + Chop(
tenDq_3d_f * tenDq_3d)



energy level diagramenergy level diagram

We add at the end of the input file the following lines where we tell the program 
to calculate the energy as Psis_i*H_i*Psis_i
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Eigensystem(H_i, Psis_i)
for key,value in pairs(Psis_i) do
energy = value * H_i * value
file:write(string.format("%14.7E ",energy))
end
file:write("\n")
end
io.write("\n")
file:close()
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Different ground states are possible 
depending on 10Dq
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Crystal field multiplet theoryCrystal field multiplet theory

Co3+ 2p XAS Co3+ 2p XAS 
3d62p53d7
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EigenvaluesEigenvalues

How to check what are these states? Calculate the quantum numbers!
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EigenvaluesEigenvalues

I add the definition of the Tz operators (intra‐atomic dipole moment)
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Jx_3d = NewOperator('Jx', NFermions, IndexUp_3d, 
IndexDn_3d)
Jy_3d = NewOperator('Jy', NFermions, IndexUp_3d, 
IndexDn_3d)
Jz_3d = NewOperator('Jz', NFermions, IndexUp_3d, IndexDn_3d)
Jsqr_3d = NewOperator('Jsqr', NFermions, IndexUp_3d, 
IndexDn_3d)
Jplus_3d = NewOperator('Jplus', NFermions, IndexUp_3d, 
IndexDn_3d)
Jmin_3d = NewOperator('Jmin', NFermions, IndexUp_3d, 
IndexDn_3d)

OppTx =NewOperator("Tx"   
,NFermions,IndexUp_3d,IndexDn_3d) 
OppTy =NewOperator("Ty"   
,NFermions,IndexUp_3d,IndexDn_3d) 
OppTz =NewOperator("Tz"   
,NFermions,IndexUp_3d,IndexDn_3d) 



EigenvaluesEigenvalues

I add Tz in the list of operators
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if H_3d_Ld_hybridization == 1 then
Operators = {H_i, Ssqr, Lsqr, Jsqr, Sz, Lz, Jz, OppTz, N_2p, N_3d, 

N_Ld, 'dZ'}
header = 'Analysis of the initial Hamiltonian:\n'
header = header .. 

'===================================================
====================================================
================\n'
header = header .. 'State         <E>     <S^2>     <L^2>     <J^2>      

<Sz>      <Lz>      <Jz>    <Tz>   <N_2p>    <N_3d>    <N_Ld>          
dZ\n'
header = header .. 

'===================================================
====================================================
================\n'
footer = 

'===================================================
====================================================

\ '



EigenvaluesEigenvalues

I add the following blue lines to tell the program to save the calculated 
eigenvalues in an obj file with the same name as the input file
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outputname = debug.getinfo(1,"S")
outputname = string.gsub(outputname.source,"@","")
outputname = string.gsub(outputname,".lua","")
tempfile = io.open(outputname.."_.obj","w")
io.output(tempfile)

io.write(header)
for i, Psi in ipairs(Psis_i) do
io.write(string.format('%5d', i))
for j, Operator in ipairs(Operators) do
if j == 1 then
io.write(string.format('%12.6f', Complex.Re(Psi * Operator * Psi)))

elseif Operator == 'dZ' then
io.write(string.format('%12.2E', dZ[i]))

else
io.write(string.format('%10.4f', Complex.Re(Psi * Operator * Psi)))

end
end
io.write("\n")

end
io.write(footer)



EigenvaluesEigenvalues

The black lines are telling the program to calculate the eigenvalue 
Psi*Operator*Psi of the list Operators for the i state 
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outputname = debug.getinfo(1,"S")
outputname = string.gsub(outputname.source,"@","")
outputname = string.gsub(outputname,".lua","")
tempfile = io.open(outputname.."_.obj","w")
io.output(tempfile)

io.write(header)
for i, Psi in ipairs(Psis_i) do
io.write(string.format('%5d', i))
for j, Operator in ipairs(Operators) do
if j == 1 then
io.write(string.format('%12.6f', Complex.Re(Psi * Operator * Psi)))

elseif Operator == 'dZ' then
io.write(string.format('%12.2E', dZ[i]))

else
io.write(string.format('%10.4f', Complex.Re(Psi * Operator * Psi)))

end
end
io.write("\n")

end
io.write(footer)



Eigenvalues for 10Dq=2.5 eV Co3+Eigenvalues for 10Dq=2.5 eV Co3+
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Eigenvalues for 10Dq=2.5 eV Co3+Eigenvalues for 10Dq=2.5 eV Co3+
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Eigenvalues for 10Dq=1.0 eV Co3+Eigenvalues for 10Dq=1.0 eV Co3+
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Eigenvalues for 10Dq=1.0 eV Co3+Eigenvalues for 10Dq=1.0 eV Co3+
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Eigenvalues for Charge Transfer CalculationsEigenvalues for Charge Transfer Calculations

17

• One should calculate the eigenvalues of the total Lsqr, Ssqr
and Jsqr, including the ligand contribution



Eigenvalues for Charge Transfer CalculationsEigenvalues for Charge Transfer Calculations
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• We add the operators acting on the Ligands

‐‐ operators acting on the ligand shell

LxL = NewOperator("Lx",    NFermions,IndexUp_Ld,IndexDn_Ld)
LyL = NewOperator("Ly",    NFermions,IndexUp_Ld,IndexDn_Ld)
LzL = NewOperator("Lz",    NFermions,IndexUp_Ld,IndexDn_Ld)
LsqrL = NewOperator("Lsqr",  NFermions,IndexUp_Ld,IndexDn_Ld)
SxL = NewOperator("Sx",    NFermions,IndexUp_Ld,IndexDn_Ld)
SyL = NewOperator("Sy",    NFermions,IndexUp_Ld,IndexDn_Ld)
SzL = NewOperator("Sz",    NFermions,IndexUp_Ld,IndexDn_Ld)
SsqrL = NewOperator("Ssqr",  NFermions,IndexUp_Ld,IndexDn_Ld)
JxL = NewOperator("Jx",    NFermions,IndexUp_Ld,IndexDn_Ld)
JyL = NewOperator("Jy",    NFermions,IndexUp_Ld,IndexDn_Ld)
JzL = NewOperator("Jz",    NFermions,IndexUp_Ld,IndexDn_Ld)
JsqrL = NewOperator("Jsqr",  NFermions,IndexUp_Ld,IndexDn_Ld)
TxL = NewOperator("Tx",    NFermions,IndexUp_Ld,IndexDn_Ld)
TyL = NewOperator("Ty",    NFermions,IndexUp_Ld,IndexDn_Ld)
TzL = NewOperator("Tz",    NFermions,IndexUp_Ld,IndexDn_Ld)



Eigenvalues for Charge Transfer CalculationsEigenvalues for Charge Transfer Calculations
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• We add the operators acting on the total cluster

‐‐ Operators acting on the total cluster

Lx = Lx_3d + LxL
Ly = Ly_3d + LyL
Lz = Lz_3d + LzL
Lsqr = Lx * Lx + Ly * Ly + Lz * Lz
Sx = Sx_3d + SxL
Sy = Sy_3d + SyL
Sz = Sz_3d + SzL
Ssqr = Sx * Sx + Sy * Sy + Sz * Sz
Jx = Jx_3d + JxL
Jy = Jy_3d + JyL
Jz = Jz_3d + JzL
Jsqr = Jx * Jx + Jy * Jy + Jz * Jz
Tx = Tx_3d + TxL
Ty = Ty_3d + TyL
Tz = Tz_3d + TzL



Eigenvalues for Charge Transfer CalculationsEigenvalues for Charge Transfer Calculations
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• We update the list of the operators

Operators = {H_i, Ssqr_3d, Lsqr_3d, Jsqr_3d, Sz_3d, Lz_3d, Jz_3d, Tz_3d, Ssqr, Lsqr, Jsqr, 
Sz, Lz, Jz, Tz, N_2p, N_3d, N_Ld, 'dZ'}
header = 'Analysis of the initial Hamiltonian:\n'
header = header .. 

'========================================================================
===============================================\n'
header = header .. 'State         <E>     <S^2_d>    <L^2_d>    <J^2_d>    <Sz_d>    <Lz_d>    

<Jz_d>      <Tz_d>       <S^2>     <L^2>     <J^2>      <Sz>      <Lz>      <Jz>      <Tz>    <N_2p>    
<N_3d>    <N_Ld>          dZ\n'
header = header .. 

'========================================================================
===============================================\n'
footer = 

'========================================================================
===============================================\n'



Eigenvalues for charge transfer calculations of Co3+Eigenvalues for charge transfer calculations of Co3+
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Eigenvalues ‐ Temperature Eigenvalues ‐ Temperature 
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One can use the calculated eigenvalues of Tz operator to extract the Sz
value or the Lz/Sz ratio given by the sum rules applied to the XMCD 
spectrum.

Also it is good to compare the calculated Lz, Sz values with the Lz, Sz
values given by the application of the sum rules.

However one should always consider the thermal population of the 
levels



Eigenvalues ‐ Temperature Eigenvalues ‐ Temperature 
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io.output(tempfile) T = 10 * EnergyUnits.Kelvin.value
Egrd = Psis_i[1] * H_i * Psis_i[1]´
‐‐ we will calculate the partition function Z
Z=0
‐‐ the total magnetic moment M
M=0
‐‐ the total spin moment MS
MS=0
‐‐ the total angular moment ML
ML=0

‐‐ and now we can make the sums
for j=1, 3 do
Z  = Z  + exp(‐(Psis_i[j] * H_i * Psis_i[j] ‐ Egrd)/T)
M  = M  + Psis_i[j] * (2 * OppSz + OppLz) * Psis_i[j] * exp(‐(Psis_i[j] * H_i * Psis_i[j] ‐ Egrd)/T)
MS = MS + Psis_i[j] * (OppSz)             * Psis_i[j] * exp(‐(Psis_i[j] * H_i * Psis_i[j] ‐ Egrd)/T)
ML = ML + Psis_i[j] * (OppLz)             * Psis_i[j] * exp(‐(Psis_i[j] * H_i * Psis_i[j] ‐ Egrd)/T)
end
‐‐ In order to normalize we should device by the partition function Z
M  = M  / Z
MS = MS / Z
ML = ML / Z


